FRYSLES LA FIBF2RF 2FPRIHRBAKTZEIFLA %

(-)F %P7

=

& =
(HLpm pr Rl ~ g0

P

7 K = ¥

B | p B ﬁff A - TR A S %fﬁfé;;ﬁcﬁi& ﬁgﬁ) =3

- |109#3*6p |8:00-8:35 FEinAw PPT 4 & 35 A48

- |109# 3% 13p [8:00-8:35 24724 TR 35 ~ 48

_ [ 109#3 7 27T p [8:00-8:35 T FIRA ] i 3F FEEZE -PPT 4 |35 448

r | 10947 10p [8:00-8:35 B3R g e N 35 A 4w

o |109&5% 1p |8:00-8:35 § b TR N R Fraf Bk |35 44

B} 8

= |109& 57" 15p |8:00-8:35 28— R Atk -t 1 35 & ha

. [109# 5 29p |8:00-8:35 MRy e FEREE-BET | 3B A&
i

A 1109& 67 5p | 8:00-8:35 Lz ehE & BRI wRESEE |35 44

(Z)x&my




FERASLES LR ZEISEERF 2F PR RERTETI SIS




R VY

WD




